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Instructions:

1.
Fill in your name and the rest of your ten-digit student ID above.  

2.
This is a OPEN book, OPEN notes, NO CALCULATOR test.  No digital electronics of any sort are allowed to be used during the test.

3.
The test is worth a total of 100 points.  The value for each question is given either at the top of that section of questions or in curly braces to the right hand side of the question.  There are extra credit questions at the end of the test worth an additional 10 points total.

4. If you do not understand a question, raise your hand and the proctor will come over for you to ask about it.  The proctor may or may not answer your question but you should still ask.

5. In questions where I have given you code to use, if you find typos, assume that the code is SUPPOSED to work and just indicate what assumption you made for your answer.  This applies in all cases unless the question is specifically about the syntax of the code - in which case there are errors on purpose.

6. I will always try to give partial credit so the more of your work that you show, the more I am able to grade for partial credit if the answer is not entirely correct.  It is to your benefit to show your work on the test.

NO CHEATING!
1.a.
Create a two dimensional array that can store a week’s worth of temperatures in Fahrenheit where the temperatures are taken once every hour of the day.  Use the zeroth hour element to store the midnight temperature reading and use day zero for Sunday.  Also declare a single variable named reading that can hold one temperature reading.
{6 points}

Float temp [7][24];
Float heading;
.5 xc is used floating point type
1.b.
Using the array and variable you declared above and assuming they have valid values in them, find the temperature for 2pm on Tuesday and store the value in reading.  
{4 points}

Reading=temp [2][14];
1.c.
Using the formula below, write a code fragment to change all the values in the temperature array from Fahrenheit to Celsius values.  Declare any additional variables that you use.
{10 points}
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Int day, hr;
For (day=0; day<7; day++)

For (hr=0; hr<24; hr ++)

{temp [day][hr]= ((temp [day][hr]-32)*5)/9;

}

Don’t need intermediate variables

2.a.
Write a function called yoo to perform the following task.  The input parameters to the function should be an array of 100 integers and a single integer value called num.
{10 points}
Given the input array, find the sum of the first num values and then divide by num.  Return this exact value as the output of the function.  Be sure to error check num.  If num is an invalid value, return 0 as the output of the function.

Float yoo(int an [100], int num)
{int cnt;

Float sum;

If ((num<1)║(num>100))
{sum=0;

Num=1

Or return 0;

Else for (cnt=0; cnt <num; cnt++)

Sum=arr[cnt]+sum;

Return(sum/num);
{
2.b.
Assume that you are writing the function hoo which will call the function yoo from the previous question.  Declare all the elements needed in function hoo to call and use function yoo.  (You do not need to give values for these variables, just declare them.)
{4 points}

Int iarr[100], inum;
Float arrinumavg
Most forget to capture return vale
2.c.
Assuming the variables from part 2.b. have now been given values, write the function call to yoo. 
{4 points}

Arrinumavg=yoo(iarr, inum)
2.d.
Why would -2 be an invalid value of num to pass to function yoo?
{4 pts}

Can’t count -2 values
2.e.
What is an example of an invalid positive value of num and why is it invalid?
{4 pts}

Array only has 100 values so num> 100 is invalid (101) 

3.a.
Match the software development stages to the tasks given below.
{9 points}


  Write code and debug D
A.
Specification


  Determine user needs C
B.
Integration


  Combine disparate components B
C.
Requirements


  Prolong usability of software F
D.
Implementation


  Define what software will do A
E.
Design


  Determine how software is to be built E
F.
Maintenance

3.b.
Where does testing happen in the software development lifecycle?
{4 points}

Everywhere
If only put one stage, got 0 points, 2 stages got 1 point
4.a.
Write a code fragment that uses a repetition control structure to increment a variable from 2 to 200 by 2 and sum the values.  Declare all the variables that you use.
{6 pts}

Int i, sum;
For (i=2; i<201; i+=2)
Sum +=i;
Increment syntax was often wrong “i+2”
4.b.
Write a code fragment that uses a DIFFERENT repetition control structure from the problem 4.a. above to increment a variable from 2 to 200 by 2 and sum the values.  Declare all the variables that you use.
{6 pts}

Int i, sum;

i=2;

while (i<201)

{sum+=i;

i+=2;

} 
5.
Use the following code to answer the questions below.

int jingo(int *klatch, int ankh) {
// Line A

int mor, pork, disc;
// Line B

if ((!ankh) || (ankh < 0))
// Line C


return;

else  {


mor = ankh - 2;
// Line D1


for ( ; mor > 0 ; mor--)
// Line D2



for (pork = 0; pork < ankh-2; )  {
// Line E




if (*(klatch + pork) > *(klatch + ++pork)  {
// Line F





disc = *(klatch + pork - 1);
// Line G1





*(klatch + pork – 1) = *(klatch + pork);
// Line G2





*(klatch +pork) = disc;
// Line G3





}




}


}

}

5.a.
What is wrong with Line B in the code above?
{3 pts}

Variable names are not meaningful
5.b.
Rewrite the test in Line C to make it the same test but as simple as possible.
{4 pts}

If (ankh<=0)   If (ankh<1)
5.c.
Why is line D2 confusing and how can D1 and D2 be combined to improve it?
{4 pts}

Confusing because it doesn’t have initial condition
Combine as for (mor=ankh-z; mor>0; mor--)
5.d.
What is confusing about line E and where is the missing information?
{5 pts}

Confusing because increment is missing. It is in line F at ++pork
5.e.
Give another way to write *(klatch + pork).
{4 pts}

Klatch[pork]
5.f.
What is happening in the three lines labeled G1, G2 and G3?
{4 pts}

It’s a swap
5.g.
Given the action occurring in lines G1, G2, and G3 and the rest of the code, what is the purpose of the function jingo?  Be as specific as you can.
{5 pts}
It’s a bubble sort
Extra Credit questions  - Worth two {2} points each unless stated otherwise.

XC1.
For the function yoo in problem 2.a. write down two function calls from function hoo that would test invalid values of num.
{2 pts}

Arrinumavg=yoo(iarr,-2);
Arrinumavg=yoo(iarr,101);
XC2.
Write a code fragment that declare a string with the value “bluebird” then use string functions to change “bird” to “jay” and make the new string “bluejay”
{6}

Char*feegle=   “bluebird”;
Char*nac= “jay”;

Then one of the following:

Strepy((feegle+4), nac);

or

Feegle[4]=’/0’;

Strcat(feegle, nac);

or
char*tiff;
tiff=strstr(feegle, “bird”);

strcat(tiff,nac);

XC3.
What do I need to cover in class to help you with your next lab assignment based on what has been difficult in the previous assignments?
{ANY answer will receive 2 points}
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